© HEINRICH KIPP WERK GmbH & Co. KG

B|A AR, E2IAE] OfyE
My
HE Y.

QA ZHX{= =0 o2 Qs &2 k|7t H

— 1=

[=]
St ROl AFSELICH HX EEE +82= E0{ot2F it

= O|Eo|- _J'\_ OIAL“:I._

ZHA|ZHOl A &2 EIZ2 Zo4of 5l1 A2 Elo| HiE
&35ioF BrLCt.

ZeolE el C £ B2l DE A

THE:

2B HT:

LIAt &21E, A
&2 El1.4305.

AE|IQIE|A AR HT:

LIAL &2/ 2 &2 £l 1.4305.
Ot HE WItAN =XK|

EM OpR2]:

AE M

[SE=R A 1= L PN =

LIAL 215, ZHAM 1|akx{Z|

= E e™g.

AHQIYA AE! B{H:

At ME|E X g2 &HE E

LB RE 2

e

A A XHE ) 2 EFE FE55HAAIR

2’3 Al:

M A|CIE AERID TS

0 M.

EIU A E2 &R 813, M2 HE QI8

Ele]B: &2 &R 818, &3 LHE /U3
U C: &2 &2 US, A2 HE Q2

EtelD: &3 &% US, HF HE US

www.kipp.com -

info@kipp.com

1/3



e
N
(=)
S
N
>

X1 =  CCX= AFI|O A AEl =EZaLAEI olal] A Xk i
S EE ZE = AHIQI2|A AT, Z2IAE [ £F0| E
2 Al
=N
® 4
B p——
R :
[ |
|
oy ’ i
-
'
r | w ' SW1
- \ '
Ll } | I |
i
| '
Sia |
|
1 Y I w -
| f '
A !
D ng
D1
E= 0t
FEHS Ef 2 "H& A= AL D DI A B L L1L2L3 AE SW1Fx30° A EAN = EZ
2 23 Etd ZEE max.Nm
] F1 F2
F N 29N
K2047.0104080 A AE ZA3MRAL7021 4 M8 2053 4451523,813 4 8 1 6 12 2
K2047.0115100 A AEl HE|MRAL7021 5 M10 256,7 52,21728,515 5 10 1,3 6 12 7
K2047.0126120 A AE HE|MRAL7021 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.0138160 A AE ZE/M RAL7021 8 M16 4010,7 81 2645323 8 16 2,3 8 19 20
K2047.0104081 A AEl ZHE|M RAL 7021 4 M8x1 2053 44,51523,813 4 8 1 6 12 2
K2047.0115101 A AR ZH3|M RAL7021 5 M10x1 25 6,7 52,21728515 5 10 1,3 6 12 7
K2047.0126121 A AE Z43|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.0138161 A AE 3| M RAL 7021 8 M16x1,54010,7 81 2645323 8 16 2,3 8 19 20
K2047.010408084 A AE AlSS WZERAL 30204 M8 20 5,3 4451523813 4 8 1 6 12 2
K2047.011510084 A AE MSESWZRAL30205 M10 256,7 52,21728,515 5 10 1,3 6 12 7
K2047.012612084 A AE ASS WZFRAL30206 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.013816084 A AE AlSS WZERAL 30208 M16 4010,7 81 2645323 8 16 2,3 8 19 20
K2047.010408184 A AE] AlES Wz RAL 30204 M8x1 20 5,3 44,51523,813 4 8 1 6 12 2
K2047.011510184 A AE] AlS S Wz RAL 3020 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
K2047.012612184 A AE] AlS S Wz RAL 3020 6 M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.013816184 A AE] A S WZ RAL 3020 8 M16x1,54010,7 81 2645,323 8 16 23 8 19 20
K2047.1104080 A AE|QIEIA AEl  ZHEMRAL7021 4 M8 2053 4451523813 4 8 1 6 12 2
K2047.1115100 A AHQIYA ARl ZH3MRAL7021 5 M10 256,7 52,21728515 5 10 1,3 6 12 7
K2047.1126120 A AEQIBA ARl ZHEAMRAL7021 6 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.1138160 A AE|QIEIA AEl  ZHEMRAL7021 8 M16 4010,7 81 2645323 8 16 2,3 8 19 20
K2047.1104081 A AHQIHA ARl  Z3AMRAL7021 4 M8x1 2053 44,51523,813 4 8 1 6 12 2
K2047.1115101 A AEQIBA ARl ZHEAMRAL7021 5 M10x1 256,7 52,21728,515 5 10 1,3 6 12 7
K2047.1126121 A AE|QIEIA AEl  ZHE[M RAL7021 6M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.1138161 A AHIQIHA ARl Z3ARAL7021 8M16x1,54010,7 81 2645323 8 16 2,3 8 19 20
K2047.110408084 A AEQIEA AR ASS WZF RAL30204 M8 2053 44,51523,813 4 8 1 6 12 2
K2047.111510084 A AHQIBA AR ASS WZFRAL30205 M10 256,7 52,21728,515 5 10 1,3 6 12 7
K2047.112612084 A AHIQIBA ARl ASS WZFRAL30206 M12 30 8 61,720 34 17 6 12 1,8 8 15 15
K2047.113816084 A AEQIBA AR A5 S W7 RAL 30208 M16 4010,7 81 2645323 8 16 2,3 8 19 20
K2047.110408184 A AHIQIB|A AR A5 S W7 RAL 30204 M8x1 20 5,3 44,51523,813 4 8 1 6 12 2
K2047.111510184 A AHIQIHA ARl AS S W7 RAL 3020 5 M10x1 25 6,7 52,21728,515 5 10 1,3 6 12 7
K2047.112612184 A AEIQIB|A ARl A5 5 Wz RAL 3020 6 M12x1,530 8 61,720 34 17 6 12 1,8 8 15 15
K2047.113816184 A AHIQIB|A ARl A5 S W7 RAL 3020 8 M16x1,54010,7 81 2645323 8 16 2,3 8 19 20
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



K2047_A

A3 EE 2 EE A
&, A
ES5 29

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



